/DVIRB

*UXSD 5R]NiDG -5 / 7\J
o
™
=
n
oD
D
—_
o
=
(]
7N 7\6] 7\6]
3UDFRZQLD G\SIRPRZD GU O\JD 1RZDN ODJGDIHQD $ GHPLQDUXP G\SRPRZH GHPLQDUXP G\SIRPRZH Gl KDE %lF]DN SREHI SURI
a % .5 7 GUKDE %lF]DN SREHUI 8-" $% .5 7
= SIRI 8-" $% .
o 5 / 7\6]
< = 2EViXJD NIHQID GU 7URIDQRZVN. 7RPDV] $%
J .5 Dl
GHPLQDUXP G\SIRPRZH GU KDE %.F]DN SREHUI SIRI
8-" $% .5 7
7\G] 7\G] 7\C]
6INI]DFID L UHRZDQH 2EViXJD NIHQID GU 7URIDQRZVN. 7RPDV] $% GINL]DFID L UHRZDQIH ZLJHIXQNX PJU 3ULSRQLY
ZIJHIXQNX PJU 3lLSRQLY .5 =Dl BRIRGXFKD SIHNVDQGUD $% DU
BRIRGXFKD SIHNVDQGD $
% .5 & 7\6] 7\6]
GINLIDFID L IHRZDQIH ZLJHIXQNX PJU 3ULSRQLY 2EViXJD NIHQID GU 7URIDQRZVN. 7RPDV] $%
ne] BRIRGXFKD SIHNVDQGLD $ .5  =zDl .5
GINL]DFID L HHRZDQLH ZLJHUIXQNX PJU 3ULSRQLY
GRIRGXFKD SIHNVDQGUD $% .5 & 7N 7N
— GINL]DFID L UHRZDQIH ZLJHIXQNX PJU 3ULSRQLY GINL]DFID L UHRZDQIH ZLJHIXQNX PJU 3ULSRQLY
1 BRIRGXFKD SIHNVDQGUD $% .5 & BRIRGXFKD SIHNVDQGUD $ =D
GINL]DFID L UHRZDQIH ZL]HIXQNX PJU 3ULSRQLY
BRIRGXFKD SIHNVDQGUD $% .5 & 7\6] 7\6]
A GHPLQDUXP G\SIRPRZH GU KDE %.F]DN SREHUI SIRI 2EViXJID NIHQID GU
S ™ 8- $ .5 7 7URIDQRZVN. 7RPDV] $%
T GINL]DFID L IHRZDQUH ZLJHUIXQNX PJU 3ULSRQLY .5  zDU
o GRIRGXFKD $IHNVDQGUD $ .5 -DU 7\G]
L 3UDFRZQLD G\SIRPRZD GU O\JD 1RZDN ODJGDIHQD $%
o 7\G] 5 /
3UDFRZQLD G\SIRPRZD GU O\JD 1RZDN ODJGDIHQD $
% .5 7

7\6]

-5 DU

2EViXJD NIHQID GU 7URIDQRZVNL 7RPDV] $%

5

/

3UDFRZQLD G\SIRPRZD GU O\JD 1RZDN ODJGDIHQD $% -

7\6]

7\6]

6INILJDFID L NUHRZDQLH ZLTHUXQNX PJU 3LLSRQLY
6RIRGXFKD $IHNVDQGUD $ -5 DU




